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hypermeander,TB
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tip1

tip2

Title: hypermeander,TB
Date: Fri Jan  9 09:44:55 1998
tip1 Range = [ -4, 4 ];   tip2 Range = [ -4, 4 ]
Initial Conditions: ( x, y, phi, p1, p2, time )=( 0.001, 0.003, 0, 0, 0, 0 )
Parameters: ( lam, mu, omega, x_0 )=( -0.001, -0.0226177, 0.1034, 0.5 )
Num Pts = 15001;  Time Step = 0.1

hypermeander,TB
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4
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tip1

tip2

Title: hypermeander,TB
Date: Fri Jan  9 09:50:03 1998
tip1 Range = [ -4, 4 ];   tip2 Range = [ -4, 4 ]
Initial Conditions: ( x, y, phi, p1, p2, time )=( 0.026914919, -0.0010393291, 0, 0, 0, 0 )
Parameters: ( lam, mu, omega, x_0 )=( -0.001, -0.0226177, 0.1034, 0.5 )
Num Pts = 10001;  Time Step = 0.1
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